
62/$6�&+$5'211$<����� 

^ŽůĂƐ��ŚĂƌĚŽŶŶĂǇ�ŝƐ�Ă�ǁĞůů-ďĂůĂŶĐĞĚ͕�ĨŽŽĚ-ĨƌŝĞŶĚůǇ�ǁŝŶĞ�ǁŚŝĐŚ�ƚƌĞĂĚƐ�
ƚŚĞ� ĮŶĞ� ůŝŶĞ� ďĞƚǁĞĞŶ� ƌŝĐŚ� ŽĂŬ� ĂŐĞĚ� ĐŚĂƌĂĐƚĞƌ� ĂŶĚ� ĐƌŝƐƉ�ŵŝŶĞƌĂůŝƚǇ͘�
dŚŝƐ� ĐŽŵƉůĞǆ� ǁŝŶĞ� ƐŚŽǁƐ� ŐĞŶĞƌŽƵƐ� ĨƌƵŝƚ� ĐŚĂƌĂĐƚĞƌ� ĐŽƵƉůĞĚ� ǁŝƚŚ� Ă�
ďƵƌƐƚ�ŽĨ�ĂƌŽŵĂƟĐ͕�ĐƌŝƐƉ�ƉĞĂƌ͘� 

7(&+1,&$/�,1)250$7,21 

6200(/,(5�5(&200(1'$7,216 

7$67,1*�127(6 

ͨ� ^ŽůĂƐ� ͩ� ŝƐ� ƚŚĞ� /ƌŝƐŚ� ĨŽƌ� ͚ůŝŐŚƚ͛� ĂŶĚ� ŝŶ� KůĚ� &ƌĞŶĐŚ�ŵĞĂŶƐ� ͚ũŽǇ͕͛� ͚ƉůĞĂƐƵƌĞ͕͛�
͚ĞŶũŽǇŵĞŶƚ͛͘� KƵƌ� ^ŽůĂƐ� ǁŝŶĞƐ� ƌĞŇĞĐƚ� ƚŚĞ� ƉƵƌŝƚǇ͕� ďĂůĂŶĐĞ� ĂŶĚ� ůŝŐŚƚ� ŚĂŶĚĞĚ�
ĂƉƉƌŽĂĐŚ�ƚŚĂƚ�ĐŚĂƌĂĐƚĞƌŝǌĞƐ�>ĂƵƌĞŶƚ͛Ɛ�ĂƉƉƌŽĂĐŚ�ƚŽ�ǁŝŶĞŵĂŬŝŶŐ͘� 

��ĐůĂƐƐŝĐ��ƵƌŐƵŶĚŝĂŶ�ƐƚǇůĞ�&ƌĞŶĐŚ��ŚĂƌĚŽŶŶĂǇ�ǁŚŝĐŚ�ǁŝůů�ƉĂŝƌ�ďĞĂƵƟĨƵůůǇ�
ǁŝƚŚ�ĮŶĞ�ĐƵŝƐŝŶĞ�ƐƵĐŚ�ĂƐ�ƐĞĂƌĞĚ�ƐĐĂůůŽƉƐ�Žƌ�Ă�ĚƵĐŬ�ƚĞƌƌŝŶĞ͘�ZĞĂĚǇ�ƚŽ�ĚƌŝŶŬ͕�
ƐĞƌǀĞ�ďĞƚǁĞĞŶ�ϭϬΣ��ĂŶĚ�ϭϮΣ�͘ 

sŝŶƚĂŐĞ ϮϬϮϭ �ůĐͬsŽů ϭϯй 

�ƉƉĞůůĂƟŽŶ /'W�WĂǇƐ��ΖŽĐ dŽƚĂů��ĐŝĚŝƚǇ ϯ͕ϳϰ 

�ŽůŽƌ tŚŝƚĞ Ɖ,  

dĞƌƌŽŝƌ �ĂůĐĂƌĞŽƵƐ�ĐůĂǇ�ƐŽŝů ^ƵŐĂƌ�ĐŽŶƚĞŶƚ ϭ͕ϭ�Őͬů 

sĂƌŝĞƟĞƐ �ŚĂƌĚŽŶŶĂǇ�ϭϬϬй WƌŽĚƵĐƟŽŶ ϳϬ ϬϬϬ 

�ǀĞ͘�zŝĞůĚƐ ϱϱ�ŚůͬŚĂ �ůŽƐƵƌĞ �ŽƌŬ 

 

 

 

 

 

 

EŝŐŚƚ-ƟŵĞ�ŚĂƌǀĞƐƟŶŐ͕�ƉƌĞƐƐ�ǁŝƚŚ� ũƵŝĐĞ�ƐĞůĞĐƟŽŶ͕�ŵƵƐƚ�ĐůĂƌŝĮĐĂƟŽŶ�Ăƚ�
ůŽǁ�ƚĞŵƉĞƌĂƚƵƌĞ͕�ĨĞƌŵĞŶƚĂƟŽŶ�Ăƚ�ϭϲ-ϭϳΣ�͘�ϱϬй�ĂŐĞĚ�ŝŶ�&ƌĞŶĐŚ�ďĂƌƌĞůƐ�
;ϭ-Ϯ�ǇĞĂƌƐ�ŽůĚͿ�ĨŽƌ�ϲ�ŵŽŶƚŚƐ͘� 

9,1,),&$7,21�	�$*,1* 

ϯ͕ϯϯ 


